

BULLETIN OF THE POLISH ACADEMY OF SCIENCES TECHNICAL SCIENCES, DOI: 10.24425/bpasts.2024.152210 THIS IS AN EARLY ACCESS ARTICLE. This article has been accepted for publication in a future issue of this journal, but has not been fully edited. Content may change prior to final publication.

Characteristics of solution to singular fractional differential equation with two Riemann-Stieltjes integral boundary value conditions

Nan Zhang¹*, Lingling Zhang², Hongwei Liu², Tao Liu², Hui Wang², Huimin Tian³

¹ School of Mathematics and Statistics, Taiyuan Normal University, 030606, TaiYuan, Shanxi, China
² College of Mathematics, Taiyuan University of Technology, 030024, TaiYuan, Shanxi, China

³ College of Applied Mathematics, Shanxi University of Finance and Economics, 030006, TaiYuan, Shanxi, China

Abstract. The purpose of this paper is to study unique solution and iterative sequence of approximate solution for uniformly approaching unique solution to a new class of singular fractional differential equations with two kinds of Riemann-Stieltjes integral boundary value conditions by using some fixed point theorems. Because of different properties of the nonlinear terms and complexity of the boundary conditions in equations, we first probe several fixed point theorems of sum-type operators which expand many existing works in this research area. It is essential to point out that some conditions in our works greatly simplify the proof process of fixed point theorems. By applying the operator conclusions obtained in this paper, some sufficient conditions that guarantee the existence and uniqueness of solutions to singular differential equations are obtained, two iterative schemes that uniformly converges to the unique solution are given which provide computational methods of approximating solutions. As applications, some examples are provided to illustrate our main results.

Key words: operator equation; mixed monotone operator; concave-convex operator; positive solution; fractional differential equation

1. INTRODUCTION

In this article, we study a new form of fractional differential equations with four different nonlinear terms under two different complex integral boundary conditions and gain the sufficient conditions which guarantee the unique nontrivial solution and approximating iterative schemes of unique solution. Namely, we discuss the following problem:

$$D_{0^{+}}^{\eta_{1}+\eta_{2}}x(t) + k_{1}f(t,x(t),x(t)) + k_{2}g(t,x(t),x(t)) + k_{3}\phi(t,x(t),x(t)) + k_{4}\rho(t,x(t)) = 0,$$
(1)

with two Riemann-Stieltjes integral boundary conditions

$$\begin{cases} x^{(i)}(0) = 0, D_{0^+}^{\alpha_1} x(1) = \tau I_{0^+}^{\beta_1} x(\xi_1), D_{0^+}^{\eta_1 + j} x(0) = 0, \\ D_{0^+}^{\eta_1 + \alpha_2} x(1) = \int_0^1 b(s) D_{0^+}^{\eta_1 + \beta_2} x(s) dA(s), \end{cases}$$
(2)

$$\begin{cases} x^{(j)}(0) = 0, D_{0^+}^{\alpha_2} x(1) = \int_0^1 b(s) D_{0^+}^{\beta_2} x(s) dA(s), \\ D_{0^+}^{\eta_2 + i} x(0) = 0, D_{0^+}^{\eta_2 + \alpha_1} x(1) = \tau I_{0^+}^{\eta_2 + \beta_1} x(\xi_1), \end{cases}$$
(3)

where $j = 0, 1, \dots, m-2, i = 0, 1, \dots, n-2, D_{0^+}^{\eta_1 + \eta_2}$ stands for Riemann-Liouville (RL) fractional derivative, $n - 1 < \eta_1 \le n, m - 1 < \eta_2 \le m, \eta_1 - \alpha_1 - 1 > 0, \tau > 0, \beta_1 > 0, \alpha_2 - \beta_2 > 0, \eta_2 - \alpha_2 - 1 > 0, \eta_2 - \beta_2 - 1 > 0, f, g, \phi \in C((0, 1) \times (0, +\infty) \times (0, +\infty), [0, +\infty)), \rho \in C((0, 1) \times (0, +\infty), [0, +\infty)), k_i > 0$ $(i = 1, 2, 3, 4), f(t, x, y), g(t, x, y), \phi(t, x, y), \rho(t, x)$ are singular at t = 0, 1 and y = 0.

As a matter of fact, FDEs with integral boundary value conditions are extensively applied in the description of a variety of practical situations and processes with memory and genetic characteristics ([1]-[7]) which explains why many authors have discussed existence, nonexistence and multiplicity questions for positive solutions to integral boundary value problems involving fractional derivative ([8]-[14]). For instance, the existence conclusions of solution to the following RL equation in [8] are obtained by mean of the fixed point index theory

$$\begin{cases} D_{0^+}^{\eta} y(t) + h(t) f(t, y(t)), & 0 < t < 1, \ 3 < \eta \le 4, \\ y^{(i)}(0) = 0, & i = 0, 1, 2, \ y(1) = \lambda \int_0^{\xi} y(s) ds, \ 0 \le \xi \le 1. \end{cases}$$

In [9], a Caputo FDE subject to integral boundary value conditions was investigated

$$\begin{cases} {}^{c}D_{0^{+}}^{\eta}y(t) + f(t, y(t), y'(t)) = 0, \ 0 \le t \le 1, \ 2 < \eta < 3, \\ y(0) = y''(0) = 0, \ y(1) = \lambda \int_{0}^{1} y(s) ds, \ 0 < \lambda < 2. \end{cases}$$

By using a fixed point theorem due to Avery and Peterson, sufficient conditions for the existence and multiplicity of positive solution to this system were given.

From literature [15]-[18], some existence, non-existence and multiplicity results of solution (or positive solution) when the nonlinear terms satisfy different requirements of superlinearity, sublinearity, and so forth. But the question of the unique solution and the computational methods of approximating solutions was not treated. Motivated by the above mentioned work, our work in this paper is to unfold the existence and iteration of unique positive solution to the problem Eq. (1) with the conditions (2) or (3) by using some fixed point theorems of sum-type operator.

The new features of this paper are as follows: (a) We provide several kinds of fixed point methods of sum-type operators to discuss one of the most considerable qualitative aspects "existence and uniqueness" of solution for the system Eq. (1) governed by the boundary conditions (2) or (3). The fixed point theorems of sum-type operators expand some existing results, such as [19]-[21]. (b) We study not only problem Eq. (1) with (2) or (3) admitting the existence and uniqueness of positive solutions but also two iterative schemes for dealing with approximate solutions that converge uniformly to the unique so-



lution, which can provide computational methods of approximating solutions.

The rest of the content in this paper is organized as follows. In Section 2, some basic theory, works of Banach space and cone are reviewed. In Section 3, some conclusions of sumtype operators are presented. In Section 4, some theorems of existence-uniqueness solution for (1) with (2) or (3) are studied by the theoretical works of Section 3. In Section 5, some exact examples are given.

2. PRELIMINARIES

Let $(E, \|\cdot\|)$ be a real Banach space. The concept of cone, normal cone can be referred to [1]-[3]. Denoted a set $P_h = \{x \in E \mid \exists \mu, \nu > 0, \mu h \le x \le \nu h\}$.

Definition 2.1 ([1]) Define an operator $A : P \times P \to P$, if $\forall u_i, v_i \in P \ (i = 1, 2)$, when $u_1 \leq u_2, v_1 \geq v_2$, there is $A(u_1, v_1) \leq A(u_2, v_2)$, i.e. A(u, v) is increasing in u, and decreasing in v, then A is called a mixed monotone operator. If A(x, x) = x, x is called a fixed point of A.

Definition 2.2 ([2]) Let $D \subset E$ be a convex subset, $A : D \to E$ be an operator. If *A* satisfies $\forall x, y \in D, y \leq x$,

$$A(tx + (1-t)y) \le tAx + (1-t)Ay, \ t \in (0,1),$$

then A is called a convex operator. If

$$A(tx + (1-t)y) \ge tAx + (1-t)Ay, t \in (0,1),$$

then, A is called a concave operator.

Definition 2.3 ([3]) Define an operator $A : P \times P \rightarrow P$, if

$$A(tx) \ge tAx, \ \forall t \in (0,1), x \in P.$$

then, *A* is said to be sub-homogeneous operator. **Lemma 2.4** ([4]) Let *P* be a normal cone and operator $T : P \times P \to P$. If *T* is a mixed monotone operator and

 $(L_1) \exists h \in P \ (h \neq \theta)$, such that $T(h,h) \in P_h$;

 $(L_2) \exists \varphi(t) \in (t, 1]$, such that $T(tx, t^{-1}y) \ge \varphi(t)T(x, y), \forall t \in (0, 1), x, y \in P$.

Then we have

$$(C_1) T: P_h \times P_h \to P_h;$$

 $(C'_2) \exists u_0, v_0 \in P_h$, such that $rv_0 \le u_0 < v_0, u_0 \le T(u_0, v_0) \le T(v_0, u_0) \le v_0, r \in (0, 1);$

 (C'_3) T(x,x) has a unique solution $x^* \in P_h$;

 (C'_4) for any initial values $x_0, y_0 \in P_h$, constructing the iterative sequences:

$$x_n = T(x_{n-1}, y_{n-1}), \quad y_n = T(y_{n-1}, x_{n-1}), \quad n = 1, 2, \cdots,$$

 $x_n \to x^*, \ y_n \to x^*, \ \text{as } n \to \infty.$

3. FIXED POINT THEOREMS OF SUM OPERATOR

In this section, we use basic definition and lemma to investigate the properties and conclusions of a class of sum operators. Theorem 3.1 and Corollary 3.2 provide conclusions on the existence and uniqueness of solutions for a class of sum operators with parameters on P and P_h . What's more, the study on the properties of operator equation solutions is given in Remark 3.3 when the operator satisfies different convexities. In fact, the operator theorems studied has generality, as the parameters and operator properties change, the conclusions obtained can be simplified into some theorems in some literature, which are given in Remark 3.4-3.5.

Define an operator $T_5 = k_1T_1 + k_2T_2 + k_3T_3 + k_4T_4$ by

 $T_5(x,y) = k_1 T_1(x,y) + k_2 T_2(x,y) + k_3 T_3(x,y) + k_4 T_4 x, \ \forall x, y \in P.$

Theorem 3.1 Let $T_1, T_2, T_3 : P \times P \rightarrow P$ be mixed monotone operators, and $T_4 : P \rightarrow P$ be an increasing sub-homogeneous operator, $k_i > 0$ (i = 1, 2, 3, 4). Suppose that

(*H*₁) For any $\lambda \in (0,1), x, y \in P$, $\exists \psi_1(\lambda), \psi_2(\lambda) \in (\lambda,1]$ such that

$$T_1(\lambda x, \lambda^{-1}y) \ge \psi_1(\lambda)T_1(x, y), \ T_2(\lambda x, \lambda^{-1}y) \ge \psi_2(\lambda)T_2(x, y),$$

and for any fixed $y \in P$, $T_3(\cdot, y)$ is concave; for any fixed $x \in P$, $T_3(x, \cdot)$ is convex;

 $(H_2) \exists \frac{1}{2} \leq a \leq 1$ such that $T_3(\theta, \tilde{l}h) \geq aT_3(\tilde{l}h, \theta), \tilde{l} \geq 1$;

 $(H_3) \exists h_1 \in P_h \ (h_1 \neq \theta)$ such that $T_1(h_1, h_1), T_2(h_1, h_1), T_3(h_1, h_1), T_4h_1 \in P_h;$

(*H*₄) for any $x, y \in P$, $\exists p \in (0,1)$ such that $k_1T_1(x,y) + k_2T_2(x,y) \ge \frac{p}{1-p}[k_3T_3(x,y) + k_4T_4x].$

The following conclusions hold:

(c1) $T_5(h,h) \in P_h$;

(c2) $T_5: P_h \times P_h \to P_h;$

(c3) $T_5(x,x) = x$ has a unique solution $x^* \in P_h$;

(c4) $\exists u_0, v_0 \in P_h, r \in (0, 1)$, such that $rv_0 \le u_0 < v_0$,

$$u_0 \leq T_5(u_0, v_0) \leq T_5(v_0, u_0) \leq v_0;$$

(c5) for any initial values $x_0, y_0 \in P_h$, constructing the iterative sequences:

$$x_n = T_5(x_{n-1}, y_{n-1}), \quad y_n = T_5(y_{n-1}, x_{n-1}), \quad n = 1, 2, \cdots,$$

 $x_n \to x^*, y_n \to x^*, \text{ when } n \to \infty.$

Proof The proof process may be divided into three steps.

Step 1: We prove that $T_5 : P \times P \to P$, and T_5 is a mixed monotone operator. Due to $T_1, T_2, T_3 : P \times P \to P$, $T_4 : P \to P$, and $k_i > 0$ (i = 1, 2, 3, 4), it is easy to verify $T_5 : P \times P \to P$. For every $x_1, y_1, x_2, y_2 \in P$, let $x_1 \leq x_2, y_1 \geq y_2$, since T_1, T_2, T_3 are mixed monotone operators, and T_4 is an increasing operator, we conclude T_5 is a mixed monotone operator.

Step 2: We state that $T_5(h,h) \in P_h$. By the condition (H_1) , it is easy to obtain

$$T_1(\lambda^{-1}x,\lambda y) \le \psi_1(\lambda)^{-1}T_1(x,y),$$

$$T_2(\lambda^{-1}x,\lambda y) \le \psi_2(\lambda)^{-1}T_2(x,y), T_4(\lambda^{-1}x) \le \lambda^{-1}T_4x.$$
(4)

For any $\lambda \in (0,1)$, we let $y = \lambda \lambda^{-1} y + (1-\lambda)\theta$, in view of the condition (*H*₁) and the definition of convex operator in Definition 2.2, we have

$$\lambda T_3(x,\lambda^{-1}y) \ge T_3(x,y) - (1-\lambda)T_3(x,\theta).$$
(5)

Moreover, we can find a sufficiently large number \tilde{l} such that $x, y, \lambda^{-1}y \leq \tilde{l}h$. By (5), (*H*₂), mixed monotonicity of *T*₃, and the definition of concave operator in Definition 2.2, there exists



Characteristics of solution to singular fractional differential equation with two Riemann-Stieltjes integral boundary value conditions

 $\frac{1}{2} \le a \le 1$, such that

$$T_{3}(\lambda x, \lambda^{-1}y) = T_{3}(\lambda x + (1-\lambda)\theta, \lambda^{-1}y)$$

$$\geq \lambda T_{3}(x, \lambda^{-1}y) + (1-\lambda)T_{3}(\theta, \lambda^{-1}y)$$

$$\geq T_{3}(x, y) - (1-\lambda)T_{3}(x, \theta) + (1-\lambda)T_{3}(\theta, \lambda^{-1}y)$$

$$\geq T_{3}(x, y) + (1-\lambda)[T_{3}(\theta, \widetilde{h}h) - T_{3}(\widetilde{h}h, \theta)]$$

$$\geq T_{3}(x, y) + (1-\lambda)[T_{3}(\theta, \widetilde{h}h) - \frac{1}{a}T_{3}(\theta, \widetilde{h}h)]$$

$$\geq [1 + (1-\lambda)(1-\frac{1}{a})]T_{3}(x, y)$$

$$= [(2-\frac{1}{a}) + (\frac{1}{a}-1)\lambda]T_{3}(x, y)$$

$$\geq \lambda T_{3}(x, y).$$

Then, for any $\lambda \in (0, 1)$, it is easy to obtain

$$T_3(\lambda x, \lambda^{-1} y) \ge \lambda T_3(x, y), \quad T_3(\lambda^{-1} x, \lambda y) \le \lambda^{-1} T_3(x, y), \quad (6)$$

From $h_1 \in P_h$ of the condition (H_3), there exists a constant $a_0 \in (0, 1)$ such that

$$a_0 h \le h_1 \le a_0^{-1} h. (7)$$

What's more, by means of (H_3) , there exist some constants $b_i \in (0,1)$ $(i = 1, 2, \dots, 8)$ such that

$$b_1h \le T_1(h_1, h_1) \le b_2h, \quad b_3h \le T_2(h_1, h_1) \le b_4h, \\ b_5h \le T_3(h_1, h_1) \le b_6h, \quad b_7h \le T_4h_1 \le b_8h.$$
(8)

From (4)-(5), (7)-(8), and the monotonicity of T_1 , the assertion follows

$$T_{1}(h,h) \leq T_{1}(a_{0}^{-1}h_{1},a_{0}h_{1}) \leq \psi_{1}(a_{0})^{-1}b_{2}h,$$

$$T_{1}(h,h) \geq T_{1}(a_{0}h_{1},a_{0}^{-1}h_{1}) \geq \psi_{1}(a_{0})b_{1}h.$$
(9)

In the similar way, we obtain

$$\psi_2(a_0)b_3h \le T_2(h,h) \le \psi_2(a_0)^{-1}b_4h,$$

$$a_0b_5h \le T_3(h,h) \le a_0^{-1}b_6h, a_0b_7h \le T_4h \le a_0^{-1}b_8h.$$
(10)

From (9)-(10), it holds that $T_1(h,h), T_2(h,h), T_3(h,h), T_4h \in P_h$. According to the definition of T_5 and (10)-(11), it is easy to obtain $T_5(h,h) \in P_h$.

Step 3: We verify that T_5 satisfies the condition (L_2) in Lemma 2.4. Through (H_4) , it is easy to obtain that there exists $p \in (0, 1)$, such that

$$(1-p)[k_1T_1(x,y)+k_2T_2(x,y)] \ge p[k_3T_3(x,y)+k_4T_4x], \ \forall x,y \in P$$

Then by (H_1) , $\forall t \in (0, 1)$, one observes

$$T_{5}(tx,t^{-1}y) \ge \psi(t)[k_{1}T_{1}(x,y) + k_{2}T_{2}(x,y)] + t[k_{3}T_{3}(x,y) + k_{4}T_{4}x]$$

$$= [p\psi(t) + (1-p)t][k_{1}T_{1}(x,y) + k_{2}T_{2}(x,y)]$$

$$+ (1-p)(\psi(t) - t)[k_{1}T_{1}(x,y) + k_{2}T_{2}(x,y)]$$

$$+ t[k_{3}T_{3}(x,y) + k_{4}T_{4}x]$$

$$\ge [p\psi(t) + (1-p)t][k_{1}T_{1}(x,y) + k_{2}T_{2}(x,y)]$$

$$+ p(\psi(t) - t)[k_{3}T_{3}(x,y) + k_{4}T_{4}x]$$

$$+ t[k_{3}T_{3}(x,y) + k_{4}T_{4}x]$$

$$= [p\psi(t) + (1-p)t]T_{5}(x,y),$$

where $\psi(t) = \min\{\psi_1(t), \psi_2(t), t \in (0, 1)\}$. Due to $p \in (0, 1)$, $\psi(t) \in (t, 1]$, it is easy to obtain $p\psi(t) + (1 - p)t \in (t, 1]$. Hence, there exists $\varphi(t) = p\psi(t) + (1 - p)t \in (t, 1]$ such that

$$T_5(tx,t^{-1}y) \ge \varphi(t)T_5(x,y).$$

Thus, according to Lemma 2.4, we get the conclusions (c1)-(c5).

Corollary 3.2 Let $T_1, T_2, T_3 : P_h \times P_h \to P_h$ be mixed monotone operators, and $T_4 : P_h \to P_h$ be an increasing sub-homogeneous operator, $k_i > 0$ (i = 1, 2, 3, 4). Suppose that (H_2) holds and

 (H'_1) for any $\lambda \in (0,1), x, y \in P_h$, $\exists \psi_1(\lambda), \psi_2(\lambda) \in (\lambda,1]$ such that

$$T_1(\lambda x, \lambda^{-1} y) \ge \psi_1(\lambda) T_1(x, y), \ T_2(\lambda x, \lambda^{-1} y) \ge \psi_2(\lambda) T_2(x, y),$$

and for any fixed $y \in P_h$, $T_3(\cdot, y)$ is concave; for any fixed $x \in P_h$, $T_3(x, \cdot)$ is convex;

 (H'_4) for any $x, y \in P_h$, $\exists p \in (0,1)$ such that $k_1T_1(x,y) + k_2T_2(x,y) \ge \frac{p}{1-p}[k_3T_3(x,y) + k_4T_4x]$. Thus, the conclusions (c1)-(c5).

Proof According to the definition of the set P_h , it can be inferred that $P_h \subset P$. It can be observed that the conditions in Corollary 3.2 are given on the subset P_h of P. Therefore, according to the proof in Theorem 3.1, the same conclusion can be drawn.

Remark 3.3 In Theorem 3.1, the properties of T_1, T_2 in the condition (H_1) turn into the condition (l_1) or (l_2) or (l_3):

 (l_1) for any $\lambda \in (0,1), x, y \in P, \exists \alpha_1, \alpha_2 \in (0,1)$ such that

$$T_1(\lambda x, \lambda^{-1}y) \ge \lambda^{\alpha_1} T_1(x, y),$$

$$T_2(\lambda x, \lambda^{-1}y) \ge \lambda^{\alpha_2} T_2(x, y),$$

 (l_2) for any $\lambda \in (0,1), x, y \in P$, $\exists \eta_1(\lambda), \eta_2(\lambda) \in (0,1]$ such that

$$T_1(\lambda x, \lambda^{-1} y) \ge [1 + \lambda - \lambda^{\eta_1(\lambda)}] T_1(x, y),$$

$$T_2(\lambda x, \lambda^{-1} y) \ge [1 + \lambda - \lambda^{\eta_2(\lambda)}] T_2(x, y),$$

 (l_3) for any $\lambda \in (0,1), x, y \in P$, $\exists \eta_3(\lambda), \eta_4(\lambda) > 0$ such that $\lambda[1+\eta_3(\lambda)] < 1, \lambda[1+\eta_4(\lambda)] < 1$ and

$$T_1(\lambda x, \lambda^{-1}y) \ge \lambda [1 + \eta_3(\lambda)] T_1(x, y),$$

$$T_2(\lambda x, \lambda^{-1}y) \ge \lambda [1 + \eta_4(\lambda)] T_2(x, y),$$

then the conclusions (c1)-(c5) still hold.

Remark 3.4 In Theorem 3.1, if we take $k_1 = k_4 = 1, k_2 = k_3 = 0$, or $k_1 = k_4 = 1, T_2 = T_3 = \theta$, and the property of T_1 in the condition (H_1) turns into

$$\exists \alpha_1 \in (0,1)$$
 such that $T_1(\lambda x, \lambda^{-1}y) \ge \lambda^{\alpha_1}T_1(x,y)$,

the corresponding result can reduce to the Theorem 2.1 of [19]. **Remark 3.5** In Theorem 3.1, in the situation of $k_1 = k_2 = 1, k_3 = k_4 = 0$, or $k_1 = k_2, T_3 = T_4 = \theta$, the corresponding results is consistent with the result of [20].

4. UNIQUE SOLUTION TO THE FDES

In this part, using our main theoretical results, we study the existence, uniqueness solution and approximating iterative schemes of unique solution to Eq. (1) with the conditions





N. Zhang, L. Zhang, H. Liu, T. Liu, H. Wang, and H. Tia

Eq. (2) or Eq. (3). The brief process of the research is as follows. Firstly, we discuss the equivalent integral equations of two singular differential equations (Lemma 4.1, Lemma 4.5), then the properties of the Green's function in the equivalent integral equations are obtained (Lemma 4.2). Thirdly, based on the obtained operator equation theorem (Theorem 4.1), the sufficient conditions for unique solution of two fractional differential equations are given (Theorem 4.3, Theorem 4.6).

In the following, we will work in E = C[0, 1] with the norm $||x|| = \sup_{0 \le t \le 1} |x(t)|$, and $P = \{x \in E : x(t) \ge 0, t \in [0, 1]\}$. Evidently, $(E, || \cdot ||)$ is a Banach space, *P* is a normal cone and the normality constant is 1. Define

$$P_h = \{x \in C[0,1] : \exists J \in (0,1), Jh(t) \le x \le \frac{1}{J}h(t), t \in [0,1]\}.$$

For simplify, let $M_1 = \Gamma(\eta_1)\Gamma(\eta_1 + \beta_1) - \tau\Gamma(\eta_1)\Gamma(\eta_1 - \alpha_1)$ $\xi_1^{\eta_1 + \beta_1 - 1}, M_2 = \frac{1}{\Gamma(\eta_2 - \alpha_2)} - \frac{\int_0^1 b(s)s^{\eta_2 - \beta_2 - 1} dA(s)}{\Gamma(\eta_2 - \beta_2)}, g_1(t, s) = \frac{t^{\eta_1 - 1}}{M_1}$ $(1 - s)^{\eta_1 - \alpha_1 - 1}\Gamma(\eta_1 + \beta_1), g_2(t, s) = \frac{(t - s)^{\eta_1 - 1}}{\Gamma(\eta_1)}, g_3(t, s) = \tau$ $\frac{\Gamma(\eta_1 - \alpha_1)t^{\eta_1 - 1}(\xi_1 - s)^{\eta_1 + \beta_1 - 1}}{M_1}$

Lemma 4.1 If $\sigma(t) = k_1 f(t, x(t), x(t)) + k_2 g(t, x(t), x(t)) + k_3 \phi(t, x(t), x(t)) + k_4 \rho(t, x(t)) \in C[0, 1], M_1 > 0, M_2 > 0$, the equation Eq. (1) with condition (2) has the following equivalent integral equation

$$x(t) = \int_0^1 K(t,s) \int_0^1 G(s,\tau) \sigma(\tau) \mathrm{d}\tau \mathrm{d}s,$$

where

$$G(t,s) = G_1(t,s) + t^{\eta_2 - 1} \int_0^1 G_2(\tau,s) b(\tau) dA(\tau),$$

$$G_1(t,s) = \begin{cases} \frac{t^{\eta_2 - 1}(1-s)^{\eta_2 - \alpha_2 - 1} - (t-s)^{\eta_2 - 1}}{\Gamma(\eta_2)}, & 0 \le s \le t \le 1, \\ \frac{t^{\eta_2 - 1}(1-s)^{\eta_2 - \alpha_2 - 1}}{\Gamma(\eta_2)}, & 0 \le t \le s \le 1, \end{cases}$$

$$G_2(t,s) = \begin{cases} \frac{(1-s)^{\eta_2 - \alpha_2 - 1} t^{\eta_2 - \beta_2 - 1} - (t-s)^{\eta_2 - \beta_2 - 1}}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)M_2}, & 0 \le s \le t \le 1, \\ \frac{(1-s)^{\eta_2 - \alpha_2 - 1} t^{\eta_2 - \beta_2 - 1} - (t-s)^{\eta_2 - \beta_2 - 1}}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)M_2}, & 0 \le t \le s \le 1, \end{cases}$$

$$\left\{ \begin{array}{c} g_1(t,s) - g_2(t,s) - g_3(t,s), & 0 \le s \le t \le 1, s \le \xi_1 \end{cases} \right\}$$

$$K(t,s) = \begin{cases} g_1(t,s) - g_2(t,s), & 0 \le \xi_1 \le s \le t \le 1, \\ g_1(t,s) - g_3(t,s), & 0 \le t \le s \le \xi_1 \le 1, \\ g_1(t,s), & 0 \le t \le s \le 1, \xi_1 \le s. \end{cases}$$

proof Let $D_{0^+}^{\eta_1} x(t) = u(t)$. Eq. (1) and some conditions of (2)

$$\begin{cases} D_{0^+}^{\eta_1+j}x(0) = 0, \quad j = 0, 1, \dots, m-2, \\ D_{0^+}^{\eta_1+\alpha_2}x(1) = \int_0^1 b(s)D_{0^+}^{\eta_1+\beta_2}x(s)\mathrm{d}A(s), \end{cases}$$

can turn into

$$\begin{cases} D_{0^+}^{\eta_2} u(t) + \sigma(t) = 0, \\ u^{(j)}(0) = 0, \quad j = 0, 1, \cdots, m - 2, \\ D_{0^+}^{\alpha_2} u(1) = \int_0^1 b(s) D_{0^+}^{\beta_2} u(s) dA(s). \end{cases}$$
(11)

Integrating η_2 times to the first formula of Eq. (11), we can obtain

$$u(t) = -I_{0^+}^{\eta_2} \sigma(t) + \tilde{c}_1 t^{\eta_2 - 1} + \tilde{c}_2 t^{\eta_2 - 2} + \dots + \tilde{c}_m t^{\eta_2 - m}.$$
 (12)

From $u^{(j)}(0) = 0$ $(j = 0, 1, \dots, m-2)$, we see that $\widetilde{c}_m = \widetilde{c}_{m-1} = \dots = \widetilde{c}_2 = 0$. Then by $D_{0^+}^{\alpha} t^{\eta-1} = \frac{\Gamma(\eta)}{\Gamma(\eta-\alpha)} t^{\eta-\alpha-1}$ and $D_{0^+}^{\alpha_2} u(1) = \int_0^1 b(s) D_{0^+}^{\beta_2} u(s) dA(s)$, one gets

$$\widetilde{c}_{1} = \int_{0}^{1} \frac{(1-s)^{\eta_{2}-\alpha_{2}-1}}{\Gamma(\eta_{2})\Gamma(\eta_{2}-\alpha_{2})M_{2}} \sigma(s) ds - \int_{0}^{1} \int_{0}^{s} \frac{(s-\tau)^{\eta_{2}-\beta_{2}-1}}{\Gamma(\eta_{2})\Gamma(\eta_{2}-\beta_{2})M_{2}} b(s)\sigma(\tau) d\tau dA(s).$$
(13)

Substituting (13) in (12), and from the definition of M_2 , we can get

$$\begin{split} u(t) &= -\int_0^t \frac{(t-s)^{\eta_2-1}}{\Gamma(\eta_2)} \sigma(s) \mathrm{d}s + \int_0^1 \frac{t^{\eta_2-1}(1-s)^{\eta_2-\alpha_2-1}}{\Gamma(\eta_2)} \sigma(s) \mathrm{d}s \\ &+ \int_0^1 \int_0^1 \frac{t^{\eta_2-1}(1-\tau)^{\eta_2-\alpha_2-1}s^{\eta_2-\beta_2-1}}{\Gamma(\eta_2)\Gamma(\eta_2-\beta_2)M_2} b(s)\sigma(\tau) \mathrm{d}\tau \mathrm{d}A(s) \\ &- \int_0^1 \int_0^s \frac{t^{\eta_2-1}(s-\tau)^{\eta_2-\beta_2-1}}{\Gamma(\eta_2)\Gamma(\eta_2-\beta_2)M_2} b(s)\sigma(\tau) \mathrm{d}\tau \mathrm{d}A(s) \\ &= \int_0^1 G(t,s)\sigma(s) \mathrm{d}s. \end{split}$$

i.e., $D_{0^+}^{\eta_1} x(t) = u(t) = \int_0^1 G(t,s) \sigma(s) ds$. Integrating η_1 times to the above formula, we have

$$x(t) = -I_{0^+}^{\eta_1} u(t) + \widetilde{a}_1 t^{\eta_1 - 1} + \widetilde{a}_2 t^{\eta_1 - 2} + \dots + \widetilde{a}_n t^{\eta_1 - n}.$$
 (14)

According to $x^{(i)}(0) = 0$ $(i = 0, 1, \dots, n-2)$, there is $\widetilde{a}_n = \widetilde{a}_{n-1} = \dots = \widetilde{a}_2 = 0$. It follows from $D_{0^+}^{\alpha_1} x(1) = \tau I_{0^+}^{\beta_1} x(\xi_1)$ that

$$\widetilde{a}_{1} = \int_{0}^{1} \frac{\Gamma(\eta_{1} + \beta_{1})(1 - s)^{\eta_{1} - \alpha_{1} - 1}}{M_{1}} u(s) ds - \int_{0}^{\xi_{1}} \frac{\tau\Gamma(\eta_{1} - \alpha_{1})(\xi_{1} - s)^{\eta_{1} + \beta_{1} - 1}}{M_{1}} u(s) ds,$$
(15)

Replace \tilde{a}_1 of (15) with (14) in the equation, there is

$$x(t) = \int_0^1 K(t,s)u(s)\mathrm{d}s,$$

Then from u(t) and $\sigma(t)$, we can get the conclusion.

Lemma 4.2 If $M_1 > 0, M_2 > 0$, the following properties are established

(i) for any $t, s \in [0, 1]$, G(t, s), K(t, s) are continuous. (ii) for any $t, s \in [0, 1]$, we have

$$0 \le l_1(s)t^{\eta_2 - 1} \le G(t, s) \le L_1 t^{\eta_2 - 1},$$

where $L_1 = \frac{1}{\Gamma(\eta_2)} + \int_0^1 \frac{\tau^{\eta_2 - \beta_2 - 1}}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)M_2} b(\tau) dA(\tau), \quad l_1(s) = [1 - (1 - s)^{\alpha_2 - \beta_2}](1 - s)^{\eta_2 - \alpha_2 - 1} \frac{(1 - s)^{\eta_2 - \alpha_2 - 1}[1 - (1 - s)^{\alpha_2}]}{\Gamma(\eta_2)} + \int_0^1 \frac{\tau^{\eta_2 - \beta_2 - 1}}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)M_2} b(\tau) dA(\tau).$ (iii) for any $t, s \in [0, 1]$, we have

$$0 \le l_2(s)t^{\eta_1 - 1} \le K(t, s) \le L_2 t^{\eta_1 - 1}$$

where $L_2 = \frac{\Gamma(\eta_1)\Gamma(\eta_1+\beta_1)}{M_1}$, $l_2(s) = \frac{\tau\Gamma(\eta_1-\alpha_1)\xi_1^{\eta_1+\beta_1-1}}{M_1}(1-s)^{\eta_1-\alpha_1-1}[1-(1-s)^{\alpha_1}].$

4

www.journals.pan.pl

Characteristics of solution to singular fractional differential equation with two Riemann-Stieltjes integral boundary value conditions

Proof From the definition of G(t,s), K(t,s), we can know that (i) holds.

From the definition of $G_1(t,s), G_2(t,s)$, for any $t,s \in [0,1]$, we compute $0 \le \frac{t^{\eta_2 - 1}(1-s)^{\eta_2 - \alpha_2 - 1}[1-(1-s)^{\alpha_2}]}{\Gamma(\eta_2)} \le G_1(t,s) \le \frac{t^{\eta_2 - 1}}{\Gamma(\eta_2)},$ $0 \le \frac{(1-s)^{\eta_2 - \alpha_2 - 1}t^{\eta_2 - \beta_2 - 1}[1-(1-s)^{\alpha_2 - \beta_2}]}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)M_2} \le G_2(t,s) \le t^{\eta_2 - \beta_2 - 1}$ $\frac{1}{\Gamma(\eta_2)\Gamma(\eta_2 - \beta_2)}.$

From the definition of G(t,s), for any $t,s \in [0,1]$, it holds that

$$G(t,s) = G_1(t,s) + t^{\eta_2 - 1} \int_0^1 G_2(\tau,s) b(\tau) dA(\tau) \ge l_1(s) t^{\eta_2 - 1},$$

and $G(t,s) \le L_1 t^{\eta_2 - 1}$, i.e., (ii) holds.

From the definition of K(t,s), and $M_1 > 0$, when $0 \le s \le t \le 1$, $s \le \xi_1$, we observe that

$$\begin{split} M_{1}\Gamma(\eta_{1})K(t,s) &= \Gamma(\eta_{1})\Gamma(\eta_{1}+\beta_{1})t^{\eta_{1}-1}(1-s)^{\eta_{1}-\alpha_{1}-1} \\ &- \Gamma(\eta_{1})\Gamma(\eta_{1}+\beta_{1})(t-s)^{\eta_{1}-1} + \tau\Gamma(\eta_{1})\Gamma(\eta_{1}-\alpha_{1})\xi_{1}^{\eta_{1}+\beta_{1}-1} \\ &\cdot (t-s)^{\eta_{1}-1} - \tau\Gamma(\eta_{1})\Gamma(\eta_{1}-\alpha_{1})t^{\eta_{1}-1}(\xi_{1}-s)^{\eta_{1}+\beta_{1}-1} \\ &\geq \tau\Gamma(\eta_{1})\Gamma(\eta_{1}-\alpha_{1})\xi_{1}^{\eta_{1}+\beta_{1}-1}t^{\eta_{1}-1}(1-s)^{\eta_{1}-\alpha_{1}-1} \\ &\cdot [1-(1-s)^{\alpha_{1}}] \geq 0, \end{split}$$

and

$$M_1\Gamma(\eta_1)K(t,s) \leq \Gamma(\eta_1)\Gamma(\eta_1+\beta_1)t^{\eta_1-1}(1-s)^{\eta_1-\alpha_1-1}$$
$$\leq \Gamma(\eta_1)\Gamma(\eta_1+\beta_1)t^{\eta_1-1}.$$

Similarly, when $0 \le \xi_1 \le s \le t \le 1$, $0 \le t \le s \le \xi_1 \le 1$, $0 \le t \le s \le 1, \xi_1 \le s$, we can draw the same conclusion. Hence, for any $t, s \in [0, 1]$, we infer that (iii) holds.

Theorem 4.3 Let $f, g, \phi : C((0,1) \times (0,+\infty) \times (0,+\infty)), [0,+\infty)), \rho : C((0,1) \times (0,+\infty), [0,+\infty)), \text{ and } f(t,u,v), g(t,u,v), \phi(t,u,v), \rho(t,u) \text{ are singular at } t = 0, 1 \text{ and } v = 0.$ Assume that

 (r_1) for $t \in (0,1), x, y \in (0,+\infty)$, for any fixed t, y, f(t,x,y), $g(t,x,y), \phi(t,x,y), \rho(t,x)$ are non-decreasing in x; for any fixed $t, x, f(t,x,y), g(t,x,y), \phi(t,x,y)$ are non-increasing in y;

(*r*₂) for any $\lambda, t \in (0, 1)$, $x, y \in (0, +\infty)$, there exist $\psi_1(\lambda) \in (\lambda, 1], \psi_2(\lambda) \in (\lambda, 1]$ such that

$$f(t,\lambda x,\lambda^{-1}y) \ge \psi_1(\lambda)f(t,x,y),$$

$$g(t,\lambda x,\lambda^{-1}y) \ge \psi_2(\lambda)g(t,x,y), \quad \rho(t,\lambda x) \ge \lambda \rho(t,x),$$

and for fixed t, y, $\phi(t, \cdot, y)$ is concave; for fixed t, x, $\phi(t, x, \cdot)$ is convex;

 $\begin{array}{l} (r_3) \ \exists \frac{1}{2} \leq a \leq 1 \ \text{such that} \ \phi(t,\theta,\widetilde{l}h) \geq a\phi(t,\widetilde{l}h,\theta), \ \text{where} \\ \widetilde{l} \geq 1, h(t) = t^{\eta_1 - 1}; \\ (r_4) \ \int_0^1 s^{\eta_2 - 1} \int_0^1 \psi_1(\tau^{\eta_1 - 1})^{-1} f(\tau, 1, 1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_0^1 s^{\eta_2 - 1} \ \int_0^1 \psi_2(\tau^{\eta_1 - 1})^{-1} g(\tau, 1, 1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_0^1 s^{\eta_2 - 1} \ \int_0^1 \tau^{1 - \eta_1} \phi(\tau, 1, 1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_0^1 s^{\eta_2 - 1} \ \int_0^1 \tau^{1 - \eta_1} \rho(\tau, 1) \mathrm{d}\tau \mathrm{d}s < +\infty; \\ (r_5) \ \exists p \in (0, 1) \ \text{such that} \ k_1 f(t, x, y) + k_2 g(t, x, y) \geq \frac{p}{1 - p} \\ [k_3 \phi(t, x, y) + k_4 \rho(t, x)]. \end{array}$

Then (T1) there exist $u_0, v_0 \in P_h, r \in (0, 1)$ such that $rv_0 \le u_0 < v_0$

 v_0 , and

$$\begin{split} u_0 &\leq \int_0^1 K(t,s) \int_0^1 G(s,\tau) [k_1 f(\tau, u_0(\tau), v_0(\tau)) + k_2 g(\tau, u_0(\tau), v_0(\tau)) + k_3 \phi(\tau, u_0(\tau), v_0(\tau)) + k_4 \rho(\tau, u_0(\tau))] d\tau ds \\ &\leq \int_0^1 K(t,s) \int_0^1 G(s,\tau) [k_1 f(\tau, v_0(\tau), u_0(\tau)) + k_2 g(\tau, v_0(\tau), u_0(\tau)) + k_3 \phi(\tau, v_0(\tau), u_0(\tau)) + k_4 \rho(\tau, v_0(\tau))] d\tau ds \leq v_0; \end{split}$$

(T2) the equation Eq. (1) with the boundary value condition (1) has a unique positive solution x^* in P_h , where $h(t) = t^{\eta_1 - 1}$;

(T3) for any initial values $x_0, y_0 \in P_h$, constructing successively the iterative sequences

$$\begin{aligned} x_{n+1}(t) &= \left[\int_0^1 K(t,s) \int_0^1 G(s,\tau) k_1 f(\tau, x_n(\tau), y_n(\tau)) + k_2 g(\tau, x_n(\tau), y_n(\tau)) + k_3 \phi(\tau, x_n(\tau), y_n(\tau)) + k_4 \rho(\tau, x_n(\tau))\right] d\tau ds, \\ y_{n+1}(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) [k_1 f(\tau, y_n(\tau), x_n(\tau)) + k_2 g(\tau, y_n(\tau), x_n(\tau)) + k_3 \phi(\tau, y_n(\tau), x_n(\tau)) + k_4 \rho(\tau, y_n(\tau))] d\tau ds, \end{aligned}$$

 $n = 0, 1, 2, \dots, x_{n+1} \to x^*, y_{n+1} \to x^*, \text{ when } n \to \infty.$ **Proof** Define some operators $T_1, T_2, T_3 : P_h \times P_h \to E, T_4 : P_h \to E$ by

$$\begin{split} T_1(x,y)(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) f(\tau,x(\tau),y(\tau)) \mathrm{d}\tau \mathrm{d}s, \\ T_2(x,y)(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) g(\tau,x(\tau),y(\tau)) \mathrm{d}\tau \mathrm{d}s, \\ T_3(x,y)(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) \phi(\tau,x(\tau),y(\tau)) \mathrm{d}\tau \mathrm{d}s, \\ T_4x(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) \rho(\tau,x(\tau)) \mathrm{d}\tau \mathrm{d}s. \end{split}$$

Hence, from Lemma 4.1, x is the solution of equation Eq. (1)-(2) if and only if x is the solution of $x = k_1T_1(x,x) + k_2T_2(x,x) + k_3T_3(x,x) + k_4T_4x$. We divide the proof into five steps.

Step 1: Due to f(t,x,y), g(t,x,y), $\phi(t,x,y)$, $\rho(t,x) \ge 0$, and $G(t,s), K(t,s) \ge 0$ of Lemma 4.2, it is easy to verify $T_1, T_2, T_3 : P_h \times P_h \to P$, $T_4 : P_h \to P$. Moreover, it can be verified that T_1, T_2, T_3 are monotone operators, and T_4 is nondecreasing operator by monotonicity of f, g, ϕ and ρ in the condition (r_1) .

Step 2: We illustrate that $T_1, T_2, T_3 : P_h \times P_h \to P_h$, and $T_4 : P_h \to P_h$. Since $\phi(t, x, \cdot)$ is convex, we conclude

$$\phi(t,x,y) \leq \lambda \phi(t,x,\lambda^{-1}y) + (1-\lambda)\phi(t,x,\theta), \ \lambda \in (0,1),$$

For $x, y \in P_h$, there exists sufficiently large \tilde{l} such that $x, y, \lambda^{-1}y \leq \tilde{l}h$. Since $\phi(t, \cdot, y)$ is concave, by the condition (r_3) , and the monotonicity of ϕ , we infer that

$$\begin{split} \phi(t,\lambda x,\lambda^{-1}y) &\geq \lambda \phi(t,x,\lambda^{-1}y) + (1-\lambda)\phi(t,\theta,\lambda^{-1}y) \\ &\geq \phi(t,x,y) + (1-\lambda)(\phi(t,\theta,\widetilde{l}h) - \phi(t,\widetilde{l}h,\theta)) \\ &\geq [1+(1-\lambda)(1-\frac{1}{a})]\phi(t,x,y) \\ &= [(2-\frac{1}{a}) + (\frac{1}{a}-1)\lambda]\phi(t,x,y) \geq \lambda \phi(t,x,y). \end{split}$$

5





N. Zhang, L. Zhang, H. Liu, T. Liu, H. Wang, and H. Tia

Then, we can deduce

$$\begin{aligned} \phi(t,\lambda x,\lambda^{-1}y) &\geq \lambda \phi(t,x,y), \\ \phi(t,\lambda^{-1}x,\lambda y) &\leq \lambda^{-1} \phi(t,x,y). \end{aligned} \tag{16}$$

In view of (r_2) , we deduce

$$f(t, \lambda^{-1}x, \lambda y) \leq \psi_{1}(\lambda)^{-1} f(t, x, y),$$

$$g(t, \lambda^{-1}x, \lambda y) \leq \psi_{2}(\lambda)^{-1} g(t, x, y),$$

$$\rho(t, \lambda^{-1}x) \leq \lambda^{-1} \rho(t, x).$$
(17)

Taking x = y = 1 in (16)- (17) and the condition (r_2), we have

$$\begin{split} f(t,\lambda,\lambda^{-1}) &\geq \psi_1(\lambda)f(t,1,1), f(t,\lambda^{-1},\lambda) \leq \psi_1(\lambda)^{-1}f(t,1,1), \\ g(t,\lambda,\lambda^{-1}) &\geq \psi_2(\lambda)g(t,1,1), g(t,\lambda^{-1},\lambda) \leq \psi_2(\lambda)^{-1}g(t,1,1), \\ \phi(t,\lambda,\lambda^{-1}) &\geq \lambda\phi(t,1,1), \phi(t,\lambda^{-1},\lambda) \leq \lambda^{-1}\phi(t,1,1), \\ \rho(t,\lambda) &\geq \lambda\rho(t,1), \quad \rho(t,\lambda^{-1}) \leq \lambda^{-1}\rho(t,1). \end{split}$$

For $x, y \in P_h$, there exists $J \in (0, 1)$ such that $Jh \le x, y \le J^{-1}h$. Then, we obtain

$$\begin{aligned} f(t,x(t),y(t)) &\leq f(t,J^{-1}t^{\eta_1-1},Jt^{\eta_1-1}) \leq f(t,J^{-1}t^{1-\eta_1},Jt^{\eta_1-1}) \\ &\leq \psi_1(t^{\eta_1-1})^{-1}\psi_1(J)^{-1}f(t,1,1), \\ f(t,x(t),y(t)) &\geq f(t,Jt^{\eta_1-1},J^{-1}t^{\eta_1-1}) \geq f(t,Jt^{\eta_1-1},J^{-1}t^{1-\eta_1}) \\ &\geq \psi_1(t^{\eta_1-1})\psi_1(J)f(t,1,1). \end{aligned}$$

In the similar way, the following inequalities hold $\psi_2(t^{\eta_1-1})\psi_2(J)g(t,1,1) \leq g(t,x(t),y(t)) \leq \psi_2(t^{\eta_1-1})^{-1} \\ \psi_2(J)^{-1}g(t,1,1), \ t^{\eta_1-1}J\phi(t,1,1) \leq \phi(t,x(t),y(t)) \leq t^{1-\eta_1} \\ J^{-1}\phi(t,1,1), \ t^{\eta_1-1}J\rho(t,1) \leq \rho(t,x(t)) \leq t^{1-\eta_1}J^{-1}\rho(t,1).$

Using Lemma 4.2, and the condition (r_4) , one observes

$$T_{1}(x,y)(t) \leq \int_{0}^{1} L_{2}t^{\eta_{1}-1} \int_{0}^{1} L_{1}s^{\eta_{2}-1} \psi_{1}(\tau^{\eta_{1}-1})^{-1} \psi_{1}(J)^{-1}$$

$$\cdot f(\tau,1,1) d\tau ds = L_{1}L_{2}\psi_{1}(J)^{-1}t^{\eta_{1}-1} \int_{0}^{1} s^{\eta_{2}-1}$$

$$\cdot \int_{0}^{1} \psi_{1}(\tau^{\eta_{1}-1})^{-1} f(\tau,1,1) d\tau ds < +\infty.$$
(18)

Similarly, it gives

6

$$T_2(x,y)(t) < +\infty, \ T_3(x,y)(t) < +\infty, \ T_4x(t) < +\infty.$$

Assume that $J_1 \in (0, 1)$ and

$$J_{1} < \min\left\{\left(L_{1}L_{2}\psi_{1}(J)^{-1}\int_{0}^{1}s^{\eta_{2}-1}\int_{0}^{1}\psi_{1}(\tau^{\eta_{1}-1})^{-1}f(\tau,1,1)d\tau\right.ds\right)^{-1},\psi_{1}(J)\int_{0}^{1}l_{2}(s)s^{\eta_{2}-1}\int_{0}^{1}l_{1}(\tau)\psi_{1}(\tau^{\eta_{1}-1})f(\tau,1,1)d\tau ds\left(L_{1}L_{2}\psi_{2}(J)^{-1}\int_{0}^{1}s^{\eta_{2}-1}\int_{0}^{1}\psi_{2}(\tau^{\eta_{1}-1})^{-1}g(\tau,1,1)d\tau ds\right)^{-1},\psi_{2}(J)\int_{0}^{1}l_{2}(s)s^{\eta_{2}-1}\int_{0}^{1}l_{1}(\tau)\psi_{2}(\tau^{\eta_{1}-1})g(\tau,1,1)d\tau ds\left(L_{1}L_{2}J^{-1}\int_{0}^{1}s^{\eta_{2}-1}\int_{0}^{1}\tau^{1-\eta_{1}}\phi(\tau,1,1)d\tau ds\right)^{-1},$$

$$\begin{split} &J \int_{0}^{1} l_{2}(s) s^{\eta_{2}-1} \int_{0}^{1} l_{1}(\tau) \tau^{\eta_{1}-1} \phi(\tau,1,1) \mathrm{d}\tau \mathrm{d}s \\ & \left(L_{1} L_{2} J^{-1} \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} \tau^{1-\eta_{1}} \rho(\tau,1) \mathrm{d}\tau \mathrm{d}s \right)^{-1}, \\ & J \int_{0}^{1} l_{2}(s) s^{\eta_{2}-1} \int_{0}^{1} l_{1}(\tau) \tau^{\eta_{1}-1} \rho(\tau,1) \mathrm{d}\tau \mathrm{d}s \Big\}. \end{split}$$

By means of J_1 , it holds that

$$J_1 t^{\eta_1 - 1} \le T_1(x, y)(t) \le J_1^{-1} h(t),$$

i.e., $T_1 : P_h \times P_h \to P_h$. Similarly, $T_2, T_3 : P_h \times P_h \to P_h$, $T_4 : P_h \to P_h$.

Step 3: From the assumption (r_2) , there exist $\psi_1(\lambda) \in (\lambda, 1], \psi_2(\lambda) \in (\lambda, 1]$ such that

$$T_{1}(\lambda x, \lambda^{-1}y)(t) \geq \int_{0}^{1} K(t, s) \int_{0}^{1} G(s, \tau) \psi_{1}(\lambda)$$

$$\cdot f(\tau, x(\tau), y(\tau)) d\tau ds = \psi_{1}(\lambda) T_{1}(x, y)(t),$$

$$T_{2}(\lambda x, \lambda^{-1}y)(t) \geq \int_{0}^{1} K(t, s) \int_{0}^{1} G(s, \tau) \psi_{2}(\lambda)$$

$$\cdot g(\tau, x(\tau), y(\tau))) d\tau ds = \psi_{2}(\lambda) T_{2}(x, y)(t).$$

What's more, for fixed $t \in (0,1), y \in P$, for any $t \in (0,1)$, $x_1, x_2 \in P$, we can find

$$\begin{split} T_{3}(\iota x_{1}+(1-\iota)x_{2},y)(t) &\geq \int_{0}^{1} K(t,s) \int_{0}^{1} G(s,\tau) [\iota \phi(\tau,x_{1}(\tau), y(\tau)) + (1-\iota)\phi(\tau,x_{2}(\tau),y(\tau))] d\tau ds \\ &= \iota \int_{0}^{1} K(t,s) \int_{0}^{1} G(s,\tau)\phi(\tau,x_{1}(\tau),y(\tau)) d\tau ds \\ &+ (1-\iota) \int_{0}^{1} K(t,s) \int_{0}^{1} G(s,\tau)\phi(\tau,x_{2}(\tau),y(\tau)) d\tau ds \\ &= \iota T_{3}(x_{1},y) + (1-\iota) T_{3}(x_{2},y)(t). \end{split}$$

For fixed $t \in (0,1), x \in P$, for any $t \in (0,1), y_1, y_2 \in P$, it gives

$$\begin{split} T_3(x,\iota y_1 + (1-\iota)y_2)(t) &\leq \int_0^1 K(t,s) \int_0^1 G(s,\tau) [\iota \phi(\tau, x(\tau), y_1(\tau)) + (1-\iota)\phi(s, x(s), y_2(s))] d\tau ds \\ &= \iota \int_0^1 K(t,s) \int_0^1 G(s,\tau)\phi(\tau, x(\tau), y_1(\tau)) d\tau ds \\ &+ (1-\iota) \int_0^1 K(t,s) \int_0^1 G(s,\tau)\phi(\tau, x(\tau), y_2(\tau)) d\tau ds \\ &= \iota T_3(x, y_1) + (1-\iota) T_3(x, y_2)(t). \end{split}$$

Hence, for fixed $y \in P$, $T_3(\cdot, y)$ is concave; for fixed $x \in P$, $T_3(x, \cdot)$ is convex. Besides, for any $\lambda \in (0, 1)$, we derive that

$$T_4(\lambda x)(t) \ge \int_0^1 K(t,s) \int_0^1 G(s,\tau) \lambda \rho(\tau,x(\tau)) d\tau ds$$

= $\lambda T_4 x(t)$,

i.e., T_4 is a sub-homogeneous operator.

Step 3: By the condition (r_3), there exists $\frac{1}{2} \le a \le 1$ such



Characteristics of solution to singular fractional differential equation with two Riemann-Stieltjes integral boundary value conditions

that

$$T_{3}(\theta, \widetilde{l}h)(t) = \int_{0}^{1} K(t, s) \int_{0}^{1} G(s, \tau) \phi(\tau, \theta, \widetilde{l}h(\tau)) d\tau ds$$

$$\geq \int_{0}^{1} K(t, s) \int_{0}^{1} G(s, \tau) a \phi(\tau, \widetilde{l}h(\tau), \theta) d\tau ds$$

$$= a T_{3}(\widetilde{l}h, \theta)(t),$$

which prove the condition (H_2) of Corollary 3.2.

Step 5: It can be concluded from (r_5) that

$$\begin{split} k_1 T_1(x,y)(t) + k_2 T_2(x,y)(t) &= \int_0^1 K(t,s) \int_0^1 G(s,\tau) [k_1 f(\tau x(\tau),y(\tau)) + k_2 g(\tau,x(\tau),y(\tau))] d\tau ds \\ &\geq \frac{p}{1-p} \int_0^1 K(t,s) \int_0^1 G(s,\tau) [k_3 \phi(\tau,x(\tau),y(\tau)) + k_4 \rho(\tau,x(\tau))] d\tau ds \\ &= \frac{p}{1-p} [k_3 T_3(x,y)(t) + k_4 T_4 x(t)], \ p \in (0,1), \forall t \in (0,1), \end{split}$$

which implies (H'_4) of Corollary 3.2.

Based on the above five steps, from Corollary 3.2, the conclusions (T1)-(T3) hold.

Remark 4.4 In Theorem 4.3, the properties of T_2 in the condition (r_2) and (r_4) turn into $\forall \lambda \in (0,1), x, y \in (0, +\infty)$ such that $g(t, \lambda x, \lambda^{-1}y) \ge \lambda g(t, x, y)$, and $\int_0^1 s^{\eta_2 - 1} \int_0^1 \tau^{1-\eta_1} g(\tau, 1, 1) d\tau ds < +\infty$, the condition (r_5) changes into $\exists p \in (0, 1)$ such that $k_1 f(t, x, y) \ge \frac{p}{1-p} [k_2 g(t, x, y) + k_3 \phi(t, x, y) + k_4 \rho(t, x)]$, then from Corollary 3.8, the conclusions (T1)-(T3) still hold.

Lemma 4.5 If $\sigma(t) = k_1 f(t, x(t), x(t)) + k_2 g(t, x(t), x(t)) + k_3 \phi(t, x(t), x(t)) + k_4 \rho(t, x(t)) \in C[0, 1], M_1 > 0, M_2 > 0$, the equation (1) with condition (3) has the following equivalent integral equation

$$\begin{aligned} x(t) &= \int_0^1 G(t,s) \int_0^1 K(s,\tau) [k_1 f(\tau, x(\tau), x(\tau)) + k_2 g(\tau, x(\tau), x(\tau)) \\ x(\tau)) + k_3 \phi(\tau, x(\tau), x(\tau)) + k_4 \rho(\tau, x(\tau))] d\tau ds, \end{aligned}$$

where G(t,s), K(t,s) defined as Lemma 4.1.

Theorem 4.6 Let $f, g, \phi : C((0,1) \times (0, +\infty) \times (0, +\infty)), \rho : C((0,1) \times (0, +\infty)), \rho : C((0,1) \times (0, +\infty)), \rho : df(t, u, v), g(t, u, v), \phi(t, u, v), \rho(t, u)$ are singular at t = 0, 1 and v = 0. Assume that (r_1) - $(r_2), (r_5)$ hold and

 $(r_9) \exists \frac{1}{2} \leq a \leq 1$ such that $\phi(t, \theta, \tilde{l}h) \geq a\phi(t, \tilde{l}h, \theta)$, where $\tilde{l} > 1, h(t) = t^{\eta_2 - 1}$;

$$\begin{array}{l} (r_{10}) \int_{0}^{1} s^{\eta_{1}-1} \int_{0}^{1} \psi_{1}(\tau^{\eta_{2}-1})^{-1} f(\tau,1,1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_{0}^{1} s^{\eta_{1}-1} \int_{0}^{1} \psi_{2}(\tau^{\eta_{2}-1})^{-1} g(\tau,1,1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_{0}^{1} s^{\eta_{1}-1} \int_{0}^{1} \tau^{1-\eta_{2}} \phi(\tau,1,1) \mathrm{d}\tau \mathrm{d}s < +\infty, \\ \int_{0}^{1} s^{\eta_{1}-1} \int_{0}^{1} \tau^{1-\eta_{2}} \rho(\tau,1) \mathrm{d}\tau \mathrm{d}s < +\infty; \\ \text{Then (T6) there exist } u_{0}, v_{0} \in P_{h}, r \in (0,1) \text{ such that } rv_{0} \end{array}$$

Then (T6) there exist $u_0, v_0 \in P_h, r \in (0, 1)$ such that $rv_0 \le u_0 < v_0$, and

$$u_0 \leq \int_0^1 G(t,s) \int_0^1 K(s,\tau) [k_1 f(\tau, u_0(\tau), v_0(\tau)) + k_2 g(\tau, u_0(\tau), v_0(\tau)) + k_3 \phi(\tau, u_0(\tau), v_0(\tau)) + k_4 \rho(\tau, u_0(\tau))] d\tau ds$$

$$\leq \int_0^1 G(t,s) \int_0^1 K(s,\tau) [k_1 f(\tau, v_0(\tau), u_0(\tau)) + k_2 g(\tau, v_0(\tau), u_0(\tau)) + k_3 \phi(\tau, v_0(\tau), u_0(\tau)) + k_4 \rho(\tau, v_0(\tau))] d\tau ds \leq v_0;$$

(T7) the equation (1) with the boundary value condition (3) has a unique positive solution x^* in P_h , where $h(t) = t^{\eta_2 - 1}$;

(T8) for any initial values x_0 , $y_0 \in P_h$, constructing successively the iterative sequences

$$\begin{aligned} x_{n+1}(t) &= \int_0^1 G(t,s) \int_0^1 K(s,\tau) [k_1 f(\tau, x_n(\tau), y_n(\tau)) + k_2 g(\tau, x_n(\tau), y_n(\tau)) + k_3 \phi(\tau, x_n(\tau), y_n(\tau)) + k_4 \rho(\tau, x_n(\tau))] d\tau ds, \\ y_{n+1}(t) &= \int_0^1 G(t,s) \int_0^1 K(s,\tau) [k_1 f(\tau, y_n(\tau), x_n(\tau)) + k_2 g(\tau, y_n(\tau), x_n(\tau)) + k_3 \phi(\tau, y_n(\tau), x_n(\tau)) + k_4 \rho(\tau, y_n(\tau))] d\tau ds, \\ n &= 0, 1, 2, \cdots, x_{n+1} \to x^*, \ y_{n+1} \to x^*, \ \text{when } n \to \infty. \end{aligned}$$

5. APPLICATIONS

Consider the following equation:

$$\begin{cases} D_{0^{+}}^{\frac{41}{12}}x(t) + 2[(x+4)^{\frac{1}{3}} + 4x^{-\frac{1}{4}} + t^{-\frac{1}{8}}(1-t)^{-\frac{1}{9}} + 3] \\ +(x+3)^{\frac{1}{4}} + 3x^{-\frac{1}{4}} + t^{-\frac{1}{9}}(1-t)^{-\frac{1}{10}} \\ +\frac{1}{2}[-\frac{3}{5}e^{-x} + \frac{9}{4}e^{-y} + t^{-\frac{1}{10}}(1-t)^{-\frac{1}{11}} + 1] \\ +\frac{1}{3}[(x+1)^{\frac{1}{6}} + t^{-\frac{1}{12}}(1-t)^{-\frac{1}{13}}] = 0, \end{cases}$$
(19)
$$x(0) = 0, \quad D_{0^{+}}^{\frac{5}{3}}x(0) = 0, \quad D_{0^{+}}^{\frac{1}{7}}x(1) = 2I_{0^{+}}^{\frac{1}{8}}x(\frac{1}{2}), \\ D_{0^{+}}^{\frac{27}{15}}x(1) = \int_{0}^{1}s^{\frac{1}{2}}D_{0^{+}}^{\frac{11}{6}}(s)ds^{2}, \end{cases}$$

where $\eta_1 = \frac{5}{3}$, $\eta_2 = \frac{7}{4}$, $\alpha_1 = \frac{1}{7}$, $\alpha_2 = \frac{1}{5}$, $\beta_1 = \frac{1}{8}$, $\beta_2 = \frac{1}{6}$, $\tau = 2$, $b(s) = s^{\frac{1}{2}}$, $A(s) = s^2$, $\xi_1 = \frac{1}{2}$, $k_1 = 2$, $k_2 = 1$, $k_3 = \frac{1}{2}$, $k_4 = \frac{1}{3}$, and

$$f(t,x,y) = (x+4)^{\frac{1}{3}} + 4y^{-\frac{1}{4}} + t^{-\frac{1}{8}}(1-t)^{-\frac{1}{9}} + 3,$$

$$g(t,x,y) = (x+3)^{\frac{1}{4}} + 3y^{-\frac{1}{4}} + t^{-\frac{1}{9}}(1-t)^{-\frac{1}{10}},$$

$$\phi(t,x,y) = -\frac{3}{5}e^{-x} + \frac{9}{4}e^{-y} + t^{-\frac{1}{10}}(1-t)^{-\frac{1}{11}} + 1,$$

$$\rho(t,x) = (x+1)^{\frac{1}{6}} + t^{-\frac{1}{12}}(1-t)^{-\frac{1}{13}}.$$

Then Eq. (19) has unique positive solution $x^* \in P_h$, where $h(t) = t^{\frac{2}{3}}$. In addition, the other conclusions in Theorem 4.3 hold.

Proof The proof process can be divided into the following steps.

$$\widetilde{(a1)} \quad \eta_2 - \alpha_2 - 1 = \frac{13}{4} - \frac{11}{5} - 1 > 0, \quad \eta_2 - \beta_2 - 1 = \frac{13}{4} - \frac{1}{5} - 1 > 0, \quad \alpha_2 - \beta_2 = \frac{1}{5} - \frac{1}{6} > 0, \text{ and } M_1 = \Gamma(\frac{5}{3})\Gamma(\frac{5}{3} + \frac{1}{8}) - 2\Gamma(\frac{5}{3})\Gamma(\frac{5}{3} - \frac{1}{7})\frac{1}{2}\frac{5}{3} + \frac{1}{8} - 1 > 0, \quad M_2 = \frac{1}{\Gamma(\frac{7}{4} - \frac{1}{5})} - \frac{\int_0^1 s^{\frac{1}{2}} s^{\frac{1}{4}} - \frac{1}{6} - 1 ds^2}{\Gamma(\frac{7}{4} - \frac{1}{6})} > 0.$$

(b1) from the definition of f, g, ϕ, ρ , we can get that $f(t,x,y), g(t,x,y), \phi(t,x,y), \rho(t,x)$ are non-decreasing in x, $f(t,x,y), g(t,x,y), \phi(t,x,y)$ are non-increasing in y, and $f(t,u,v), g(t,u,v), \rho(t,u)$ are singular at t = 0, 1 and v = 0, $\phi(t,u,v)$ is singular at t = 0, 1.





N. Zhang, L. Zhang, H. Liu, T. Liu, H. Wang, and H. Tia

$$\begin{aligned} & (\widetilde{c1}) \text{ there exist } \psi_1(\lambda) = \lambda^{\frac{1}{3}}, \psi_2(\lambda) = \lambda^{\frac{1}{4}} \text{ such that} \\ & f(t, \lambda x, \lambda^{-1} y) \ge \lambda^{\frac{1}{3}} [(x+4)^{\frac{1}{3}} + 4y^{-\frac{1}{4}} + t^{-\frac{1}{8}} (1-t)^{-\frac{1}{9}} + 3] \\ & = \psi_1(\lambda) f(t, x, y), \\ & g(t, \lambda x, \lambda^{-1} y) \ge \lambda^{\frac{1}{4}} [(x+3)^{\frac{1}{4}} + 3y^{-\frac{1}{4}} + t^{-\frac{1}{9}} (1-t)^{-\frac{1}{10}}] \\ & = \psi_2(\lambda) g(t, x, y). \end{aligned}$$

From $\phi_{xx}^{''}(t,x,y) = -\frac{3}{5}e^{-x} \le 0$, $\phi_{yy}^{''}(t,x,y) = \frac{9}{4}e^{-y} \ge 0$, we can know that $\phi(t,\cdot,y)$ is concave; $\phi(t,x,\cdot)$ is convex. For any $\lambda, t \in (0, 1), x, y \in (0, +\infty)$, one gets

$$\rho(t,\lambda x) \ge \lambda [(x+1)^{\frac{1}{6}} + t^{-\frac{1}{12}}(1-t)^{-\frac{1}{13}}] \ge \lambda \rho(t,x).$$

 $(\widetilde{d1})$ Let $x, y \le M_3, M_3$ is a sufficiently large number. Take $a = \frac{1}{9}$, we deduce $\phi(t, \theta, M_3) \ge \frac{1}{9} \left[-\frac{3}{5} e^{-M_3} + \frac{9}{4} + t^{-\frac{1}{10}} (1 - t^{-\frac{1}{10}}) \right]$

 $\begin{array}{l} u = {}_{9}, \text{ we define } \tau (\tau, \eta, \eta) = {}_{9} \tau (\tau, \eta) \\ t)^{-\frac{1}{11}} + 1] = a\phi(t, M_{3}, \theta). \\ (\widetilde{e1}) \text{ We can get } \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} \psi_{1}(\tau^{\eta_{1}-1})^{-1} f(\tau, 1, 1) d\tau ds = \\ \int_{0}^{1} s^{\frac{3}{4}} \int_{0}^{1} \tau^{-\frac{2}{9}} [5^{\frac{1}{3}} + \tau^{-\frac{1}{8}}(1-\tau)^{-\frac{1}{9}} + 7] d\tau ds < +\infty. \text{ Similarly, } \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} \psi_{2}(\tau^{\eta_{1}-1})^{-1} g(\tau, 1, 1) d\tau ds < +\infty, \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} \tau^{1-\eta_{1}} \phi(\tau, 1, 1) d\tau ds < +\infty, \int_{0}^{1} s^{\eta_{2}-1} \int_{0}^{1} \tau^{1-\eta_{1}} \rho(\tau, 1) d\tau ds < +\infty. \end{array}$

 $(\widetilde{f1})$ Let $p = \frac{3}{4}$. We obtain

$$k_1 f(t,x,y) + k_2 g(t,x,y) \ge 3 \cdot \frac{1}{2} \left[-\frac{3}{5} e^{-x} + \frac{9}{4} e^{-y} + t^{-\frac{1}{10}} \right]$$
$$\cdot (1-t)^{-\frac{1}{11}} + 1 + 3 \cdot \frac{1}{3} \left[(x+1)^{\frac{1}{6}} + t^{-\frac{1}{12}} (1-t)^{-\frac{1}{13}} \right]$$
$$= \frac{p}{1-p} [k_3 \phi(t,x,y) + k_4 \rho(t,x)].$$

According to Theorem 4.3, Eq. (19) has unique positive solution $x^* \in P_h$, where $h(t) = t^{\frac{2}{3}}$. and (T1), (T3) hold.

6. CONCLUSIONS

This paper mainly discusses the existence and uniqueness of solution as well as the iterative sequences for uniformly approximating the unique solution for two types of singular FDEs with RS integral boundary conditions. The main conclusions are as follows. (i) Considering that nonlinear terms in abstract differential equations in some real field have different convexity and monotonicity, in order to better study these equations, this paper discuss the fixed point theorems of sum operators that contain differential properties. We obtain the corresponding properties of solution to operator equation with parameters $T_5(x,y) = k_1T_1(x,y) + k_2T_2(x,y) + k_3T_3(x,y) + k_4T_4x$ on cone P and set P_h . Based on different parameter values and operator properties, the operator conclusions obtained generalize some existing literature results. (ii) Using the conclusions of nonlinear operators in the study, two types of fractional differential equations are discussed. Several sufficient conditions of unique solutions, the existence of maximum and minimum solutions, and the iterative approximation sequences of unique solutions are given.

ACKNOWLEDGEMENTS

The authors have no relevant financial or non-financial interests to disclose. This paper is supported by The Research Project Supported by Shanxi Scholarship Council of China (2021-030), and Shanxi Youth Scientific Research Project (202103021223060), Fundamental Research Program of Shanxi Province (202203021222323), and Scientific and Technological Innovation Programs of Higher Education Institutions in Shanxi(2022L582).

REFERENCES

- [1] S.G. Samko, A.A. Kilbas, and O.I. Marichev, Fractional integrals and derivatives: Theory and Applications. Gordon and Breach, Yverdon, 1993.
- [2] Z. Zhang, "New fixed point theorems of mixed monotone operators and applications," J. Math. Anal. Appl., vol. 204, pp. 307-319, 1996.
- [3] D.J. Guo and V. Lakskmikantham, "Coupled fixed points of nonlinear operators with applications," Nonlinear Anal., vol. 11, pp. 623-632, 1987.
- [4] C.B. Zhai and L.L. Zhang, "New fixed point theorems for mixed monotone operators and local existenceuniqueness of positive solutions for nonlinear boundary value problems," J. Math. Anal. Appl., vol. 382, pp. 594-614, 2011, doi: 10.1016/j.jmaa.2011.04.066.
- [5] S. Ahmad, A. Ullah, Q.M. Al-Mdallal, H. Khan, K. Shah, and A. Khan, "Fractional order mathematical modeling of COVID-19 transmission," Chaos Solitons Fractals, vol. 139, p. 110256, 2020, doi: 10.1016/j.chaos.2020.110256.
- [6] P.A. Naik, M. Yavuz, S. Qureshi, J. Zu, and S Townley, "Modeling and analysis of COVID-19 epidemics with treatment in fractional derivatives using real data from Pakistan," Eur. Phys. J. Plus, vol. 135, no. 10, pp. 1-42, 2020, doi: 10.1140/epjp/s13360-020-00819-5.
- [7] M. Yavuz, "European option pricing models described by fractional operators with classical and generalized Mittag-Leffler kernels," Numer. Methods Part. Differ. Equ., vol. 38, no. 3, pp. 434-456, 2020, doi: 10.1002/num.22645.
- [8] X. Zhang, L. Wang, and Q. Sun, "Existence of positive solutions for a class of nonlinear fractional differential equations with integral boundary conditions and a parameter," Appl. Math. Comput., vol. 226, pp. 708-718, 2014, doi: 10.1016/j.amc.2013.10.089.
- [9] W. Sun and Y. Wang, "Multiple positive solutions of nonlinear fractional differential equations with integral boundary value conditions," Fract. Calc. Appl. Anal., vol. 17, no. 3, pp. 605-616, 2014, doi: https://doi.org/10.2478/s13540-014-0188-y.
- [10] A. Ali, M. Sarwar, M.B. Zada, and K. Shah, "Degree theory and existence of positive solutions to coupled system involving proportional delay with fractional integral boundary conditions," Math. Meth. Appl. Sci., vol. 47, no. 13, pp. 10582-10594, 2024, doi: 10.1002/mma.6311.
- [11] K. Marynets and D. Pantova, "Successive approximations and interval halving for fractional BVPs with integral boundary conditions," J. Comput. Appl. Math., vol. 436, p. 115361, 2024, doi: 10.1016/j.cam.2023.115361.

Characteristics of solution to singular fractional differential equation with two Riemann-Stieltjes integral boundary value conditions

- [12] B. Ahmad and S. Aljoudi, "Investigation of a coupled system of Hilfer–Hadamard fractional differential equations with nonlocal coupled Hadamard fractional integral boundary conditions," *Fractal Fract.*, vol. 7, no. 2, p. 178, 2023, doi: 10.3390/fractalfract7020178
- [13] K. Zhao, "Existence and UH-stability of integral boundary problem for a class of nonlinear higher-order Hadamard fractional Langevin equation via Mittag-Leffler functions," *Filomat*, vol. 37, no. 4, pp. 1053– 1063, 2023, doi: 10.2298/FIL2304053Z.
- [14] A.A. Hamoud, "Existence and uniqueness of solutions for fractional neutral volterra-fredholm integro differential equations," *Adv. Theory Nonlinear Anal. Appl.*, vol. 4, no. 4, pp. 321–331, 2020, doi: 10.31197/atnaa.799854.
- [15] D.J. Guo, "Multiple positive solutions for first order impulsive superlinear integro-differential equations on the half line," *Acta Math. Sci.*, vol. 31, no. 3, pp. 1167–1178, 2011, doi: 10.1016/j.jmaa.2020.124701.
- [16] D.G. de Figueiredo, J.P. Gossez, and P. Ubilla, "Multiplicity results for a family of semilinear elliptic problems under local superlinearity and sublinearity," *J. Eur. Math. Soc.*, vol. 8, no. 2, pp. 269–288, 2006, doi: 10.4171/JEMS/52.
- [17] G.X. Xu and J.H. Zhang, "Existence results for some

fourth-order nonlinear elliptic problems of local superlinearity and sublinearity," *J. Math. Anal. Appl.*, vol. 281, no. 2, pp. 633–640, 2003, doi: 10.1016/S0022-247X(03)00170-7.

- [18] H.Y. Wang, "On the number of positive solutions of nonlinear systems," *J. Math. Anal. Appl.*, vol. 281, no. 1, pp. 287–306, 2003, doi: 10.1016/S0022-247X(03)00100-8.
- [19] C.B. Zhai and M.R. Hao, "Fixed point theorems for mixed monotone operators with perturbation and applications to fractional differential equation boundary value problems," *Nonlinear Anal.-Theory Methods Appl.*, vol. 75, no. 4, pp. 2542–2551, 2012, doi: 10.1016/j.na.2011.10.048.
- [20] L.S. Liu, X.Q. Zhang, J. Jiang, and Y.H. Wu, "The unique solution of a class of sum mixed monotone operator equations and its application to fractional boundary value problems," *J. Nonlinear Sci. Appl.*, vol. 9, no. 5, pp. 2943–2958, 2016, doi: 10.22436/jnsa.009.05.87.
- [21] X.Q. Zhang, L.S. Liu, and Y.H. Wu, "Fixed point theorems for the sum of three classes of mixed monotone operators and applications," *Fixed Point Theory Appl.*, vol. 2016, no. 1, pp. 1–22, 2016.